
 

t = t0 

Calculate, del = (T )1/2 

del > 1

Calculateq 

abs(det(q))< 2 

　Solveq
 q= -q = q+q 

Calculate , del = (T )1/2 

Calculateq , v = − t 

abs(det(q))< 2 

Solve q dq = v   

Calculate  = − (q dq) q dq −2 q t dq − t t 

Solve q ddq =    

Evaluate q = q + dq t + ddq t2 /2  

t < te 

Output the results  

Finish  

‘Singularity’ 

‘Improper initial value’ 

i = i +1 

Input t0, , te, maxi , 1, 2, evaluate q0, dt = (te-t0)/N
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Flow chart for kinematic analysis


